S ™ ‘ O TR R ‘;ManufacturarsofSpecIaltyProducts
B W’LDERN555 | " forSport Utility and 4x4 Vehicles
L “ Accessories T : 316 Millar Avenue o EI Cajon, CA 92020

- MFG. BYGARVIIIINBJISTHIES o f . Phone 619/440- 7415« FAX 619/440-0851

Umversal Thule. and Yak1ma® Mountmg Brackets
Part#29204 |
F its 4 ” hzgh Wzlderness Racks

~ Parts List
' 4-Inside Mounting Brackets(4”)
'4-Outside Brackets(4”)
- 4-Lower Brackets =~
- 8-5/16 x 2 Carriage Bolts -
8- -5/16 x 1 % Carriage Bolts
16-5/16 SAE Flatwashers
16-5/16 Nylon Locknuts

Installatlon Instructlons o

1. The Wlldemess mountmg brackets are demgned to bolt onto the roof rack s1des and 7
~are adjustable along the roof rack side, as shown in figure 1. The Thule® or g
~Yakima® crossbars may have to be adjusted to fit the roof rack spacing requlrements "
- 2. Figures 2 and 3 111ustrate the proper way Thu1e® or Yak1ma® crossbars ﬁt :
- Wilderness brackets. :
3. When mounting a. ledemess toof rack to either a Thule® or Yak1ma® crossbar
- system, use figure 4 for mstallatlon assembly.. The inside mountlng bracket can be
- positioned inside or outside, as shown in figure 4. ;
4, 'When mountmg a Thule® or Yakima® crossbar system to an ex1stmg Wllderness
~ rack, use figure 5 for installation instructions. You can also reverse the 1ns1de
S mountmg bracket, as shown in figure 4. '
5. Align and tighten all mounting hardware. -

Pagelof2




vClime WILDERNESS ROOF RACK

ILLUSTRATIONS FOR WILDERNESS KITS PART#’S 29204 & 29206

ROOF RACK ENDS

FIGURE 1 ROOF RACK ENDS

T RE o]
ROOF RACK SIDES
== 4 et
N
FIGURE 2 FIGURE 3
4 ) 7\ )
THULE MOUNTING YAKIMA MOUNTING
O O
O O ‘E
i IEII . LLEI TETI
(x4 o o L=
N\ J § J
FIGURE 4 FIGURE 5
4 N
5/6 FLATWASHER
/—'5/16 NYLON LOCKNUT
INSIDE- MOUNTING BRACKET
ROOF RACK E" - nglgEET
i i ' YAKIMA OR
(pommmm- £ == - ;——}% | THULE CROSSBAR
5/16 X 2 AR :
CARRIAGE BOLTS NYLON LOCKNUT 5/16 X 1 1/2 ) ROOF RACK
] HoL _}@ CARRIAGE BOLTS SIDES -
QUTSIDE BRACKET—-—\ D @ \
TOPTIONAL MOUNTING ™ N ’ {—~i ————— -t )
POSITION” FOR” INSIDE | ( 5/16 X 1 1/2 @ a M
wggr{TLNg_B_Réc_Kg[J\ | CARRIAGE BOLTS %LzEFRLAg 5/16 X 2
Ay W i A | NYLON LOCKNUT CARRIAGE BOLTS
t — Lt
YAKIMA OR ! {--- _____ )
THULE CROSSBAR : % M
[ —

LOWER BRACKET

\_ 5/16 NYLON LOCKNUT

e
5/6 FLATWASHER N

D OUTSIDE
_/ & ‘:))\BRACKET

INSIDE MOUNTING BRACKET

[DRAWING# WA29204]

PAGE 2 OF 2

MFG. BY GARVIN INDUSTRIES 316 MILLAR AVE. EL CAJON, CA. 92020 [619]-440-7415




